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(a) each ahas = WR + vzz

F = q(xB) = gk(2wRz-REz +wr)
↑ on each charge-

Net force in
As we go around the circle, the and o
forces could out, and all we are left
with in the E components

ngkWRE =M
So wehave we



In order to solve this we need w(t)

Consider now to torque

x = nRYx(qkRE)

= - nghRE =Imomentmeta
This then

givedu-hR
-

Then using the equation circled in black :

de =-R
and since I=&MR



=-
Let=z Wh=wo cost

Going back to the equation circled in red

=must
= wo sit

↑ nar = B

z(t)=W(1-cost) If z(0)=

Check conservation of energy

EMECH) + E I ct) = E

But Nz(t)= wos



E= mRwo sit+ Im cost

E= RWo sit+W
&

E=Rw= Iw


